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Introduction
This contribution is used to cover the below two open issues.
Open issues

Issue 3-2-1: Whether to define TCs for m-DCI mTRP cases?
· Proposals
· Proposal 1: (Apple, Samsung)
· Define TC for m-DCI mTRP cases
· 1a: (Apple, Samsung)
· (Apple): If agree to introduce additional delay component to ULTCI state switch for 2TA
· (Samsung): mDCI FR1 two TRPs (one serving cell, and another cell with different PCI) + UL TCI + both TCIs are known, two TAs, RTD>CP
· 1b: (Huawei, Nokia)
· Huawei: mDCI FR1 two TRPs (one serving cell, and another cell with different PCI) + DL TCI + known TCI, two TAs, RTD>CP
· Nokia: DL TCI when SSBs from the two TRPs overlapped or are adjacent
· Proposal 2: (Apple, MediaTek)
· Do not define TC for m-DCI mTRP cases

Discussion: 
	mDCI
mTRP
	TC#
	FR1 inter-cell, two TA, RTD>CP, DL TCI state
	HW: the two TA can be applied in FR1 with RTD>CP, to reduce the number of test cases. One  test  is at least. 
QC: if the UE capabilities are different for intra/inter cell, two test cases are needed. 
Apple: for the test configuration, to config two TRPs, or just one for each TRP
Nokia: fine for test case. For the intra/inter, 
Xiaomi: prefer to UL state switching but not DL state  
HW: fine to include intra-cell both inter-cell 
Nokia: agree with Huawei, ssb#1 and SSB#2 for another one
Apple: just uplink to cover two dl reference timing

	
	TC#
	FR1 inter-cell, two TA, RTD>CP, UL TCI state
	

	
	
	FR2  two TA, UL TCI state RTD < CP
	Apple, MTK: prefer to UL TCI state for FR2



TC: FR1 two TA, RTD>CP, DL TCI state
Apple: we understand the motivation of the test. But it has been verified the two DL timings in Timing TC. 
There is the no difference from timing tests. Why there is FR1 test but not FR2. 
Huawei: timing tests, UE received the two DL timing from two TRPs. And the uplink timing is corresponding to DL timing. 
Apple: we don’t need the TCI state switching. No need to use tci state switching to verify the two DL tci states from two TRPs. 
Ericsson: we agree Hua here. In mTRP, UE received the two DL timing and TCI state. At least, we need one test for the TCIs switching for the new scenarios. We prefer to define one test. 
Huawei: to apple, there are some broken “gap” between two DL timings in Te tests. But in TCI states, the DL timing is from one to the another TRP with new timing. 
Nokia: It is the first time to verify the second CORESETPoolIndex “1”. 
Xiaomi: the “gap” is the two datas are overlapped or not in FR1. 
Huawei: The data from two TRPs in this test are always overlapped in FR1. If it is the TDM, no need to test. 
MediaTek: in FR1, is simultaneous of UE can be supported?
Apple: If UE remove Te test in timing for FR1, we are ok to add the test case. 
Huawei: we need to test both. 
MediaTek: is the purpose is to verify the decoding success. 
Huawei: no. it is RRM test. After the TCI, the switching is happened. 
We are fine to combined the Te and TCI state switching in a single test. 
Apple: before the MAC-CE, verify Te from two TRPs. 
Huawei: at the very beginning the test, the Te is verified as legacy. Then after Tx end, two TCIs states are switching. 
Tentative Agreement: 
Introduce one test case “TC: FR1 two TA, RTD>CP, DL TCI state switching”. Note: if there is any concern of test procedure, the test is not accepted. 
MediaTek: objection to the tentative Agreement.

Issue 1-2-3: For mDCI mTRP, how to specify UL TCI state switching requirements for eUTCI if UE supporting two TAs (RTD<CP and RTD>CP)?
< Way forward >	
· Option 1 
· Known case: THARQ +  + TOk-ref (Tfirst-SSB-DLRef + OL*T SSB-DLRef + 2ms)+NM*( Tfirst-PL-RS  + 4*Ttarget_PL-RS + 2ms)
· Unknown case: THARQ +  + TL1-RSRP + TOuk-ref (Tfirst-SSB-DLRef + OL*T SSB-DLRef + 2ms)+ Tfirst-PL-RS  + 4*Ttarget_PL-RS + 2ms
· Option 2
· No additional DL RS tracking time for UL TCI state switching
Discussion: 
Huawei: the definition of UL-TCI is the same in Rel-17 and Rel-18. Some UE are using the DL timings. There is no benefit to some UE to use DL from UL-TCI state while other UEs to use another one. 
E///: The ssbs are different. The ssb is not in active TCI state list and not active. The DL needs to refined. 
Huawei: the issue is what is the k-ref. it is not related to the tci states list. 
E///: the DL is coming from one TRP. 
Huawei: the SSB is always using SSB #0 (from the same TRP). 
Nokia: what if we go option 1 with definition of TOk-ref = 1 is “source DL-RS of UL-TCI state is not in active list of coresetPoolindex of this the target TCI”
E///: in Rel-17, the NW schedules the two TRPs within the CP. 
Huawei: no matter the RTD is larger than CP or not. The UE have to multiple DL timing by different CORESETs. 
QC: agree with HW. 

